Confirmation



Contract #
Date Entered
Sales Person
Agency %
Billing Cycle

8591 05/13/24 Tammi Eastling 15.00 Broadcast Political

Conflict 1 Political
Product Est 7376 8/28-9/2 Wisconsin

Estimate # 7376|One Nation|Est 7376 8/28-9/2 Wisconsin P.O. # 3216072

Contract

ONE NATION MEDIA FINANCIAL SERVICES 1655 PALM BEACH LAKES RD 9TH FLOOR SUITE 903 WEST PALM BEACH FL 33401

	Station	Date/Time	Len	Schedule	Repeated	Avail Type	Rate	Qty	Total
1	WAUK-AM	08/28/24-09/02/24 6:00a-10:00a	01:00	3,0,3,3,3,0,0	All Weeks	*Commercial	73.00	12	876.00
2	WAUK-AM	08/28/24-09/02/24 10:00a-3:00p	01:00	3,0,3,3,3,0,0	All Weeks	*Commercial	72.00	12	864.00
3	WAUK-AM	08/28/24-09/02/24 3:00p-7:00p	01:00	2,0,2,2,2,0,0	All Weeks	*Commercial	73.00	8	584.00
4	WBZH-AM	08/28/24-09/02/24 6:00a-10:00a	01:00	3,0,3,3,3,0,0	All Weeks	*Commercial	51.00	12	612.00
5	WBZH-AM	08/28/24-09/02/24 10:00a-3:00p	01:00	3,0,3,3,3,0,0	All Weeks	*Commercial	46.00	12	552.00
6	WBZH-AM	08/28/24-09/02/24 3:00p-7:00p	01:00	2,0,2,2,2,0,0	All Weeks	*Commercial	48.00	8	384.00
7	WFHR-AM	08/28/24-09/02/24 6:00a-10:00a	01:00	3,0,3,3,3,0,0	All Weeks	*Commercial	49.00	12	588.00
8	WFHR-AM	08/28/24-09/02/24 10:00a-3:00p	01:00	3,0,3,3,3,0,0	All Weeks	*Commercial	48.00	12	576.00
9	WFHR-AM	08/28/24-09/02/24 3:00p-7:00p	01:00	3,0,3,3,3,0,0	All Weeks	*Commercial	50.00	12	600.00
10	WLAK-AM	08/28/24-09/02/24 6:00a-10:00a	01:00	3,0,3,3,3,0,0	All Weeks	*Commercial	54.00	12	648.00
11	WLAK-AM	08/28/24-09/02/24 10:00a-3:00p	01:00	3,0,3,3,3,0,0	All Weeks	*Commercial	53.00	12	636.00
12	WLAK-AM	08/28/24-09/02/24 3:00p-7:00p	01:00	2,0,2,2,2,0,0	All Weeks	*Commercial	55.00	8	440.00
13	WRCE-AM	08/28/24-09/02/24 6:00a-10:00a	01:00	3,0,3,3,3,0,0	All Weeks	*Commercial	65.00	12	780.00
14	WRCE-AM	08/28/24-09/02/24 10:00a-3:00p	01:00	3,0,3,3,3,0,0	All Weeks	*Commercial	64.00	12	768.00
15	WRCE-AM	08/28/24-09/02/24 3:00p-7:00p	01:00	2,0,2,2,2,0,0	All Weeks	*Commercial	66.00	8	528.00
16	WRCO-FM	08/28/24-09/02/24 6:00a-10:00a	01:00	3,0,3,3,3,0,0	All Weeks	*Commercial	65.00	12	780.00
17	WRCO-FM	08/28/24-09/02/24 10:00a-3:00p	01:00	3,0,3,3,3,0,0	All Weeks	*Commercial	64.00	12	768.00
18	WRCO-FM	08/28/24-09/02/24 3:00p-7:00p	01:00	2,0,2,2,2,0,0	All Weeks	*Commercial	66.00	8	528.00
19	WRJN-AM	08/28/24-09/02/24 6:00a-10:00a	01:00	3,0,3,3,3,0,0	All Weeks	*Commercial	65.00	12	780.00
20	WRJN-AM	08/28/24-09/02/24 10:00a-3:00p	01:00	3,0,3,3,3,0,0	All Weeks	*Commercial	64.00	12	768.00
21	WRJN-AM	08/28/24-09/02/24 3:00p-7:00p	01:00	2,0,2,2,2,0,0	All Weeks	*Commercial	66.00	8	528.00
22	WXCO-AM	08/28/24-09/02/24 6:00a-10:00a	01:00	3,0,3,3,3,0,0	All Weeks	*Commercial	30.00	12	360.00
23	WXCO-AM	08/28/24-09/02/24 10:00a-3:00p	01:00	3,0,3,3,3,0,0	All Weeks	*Commercial	27.00	12	324.00

Printed 05/15/24 10:31:55 Page 1 of 2

Confirmation

Station	Date/Time	Len	Schedule	Repeated	Avail Type			Rate	Qty	Total
24 WXCO-Al		01:00	2,0,2,2,2,0,0		*Commercial			30.00	8	240.00
						Subtotal				14512.00
						Agency (Commiss	ion		0.00
						Total				14512.00
Station Summa	ary						Count	Gr	oss	Net
WAUK-AM							32	2324	1.00	1975.40
WBZH-AM							32	1548	3.00	1315.80
WFHR-AM							36	1764	1.00	1499.40
WLAK-AM							32	1724	1.00	1465.40
WRCE-AM							32	2076	6.00	1764.60
WRCO-FM							32	2076	6.00	1764.60
WRJN-AM							32	2076	00.6	1764.60
WXCO-AM					PARTIE VICTOR VI		32	924	1.00	785.40
Projected Billin	g			·			Count	Gı	oss	Net
<u> </u>					· · · · · · · · · · · · · · · · · · ·		0	(0.00	0.00

Page 2 of 2

ISSUE (Non-candidate) ADVERTISEMENT AGREEMENT FORM

, One Nation	, hereby request station ti	ime as follows: See Order for proposed						
schedule and charges. S	chedule and charges. See Invoice for actual schedule and charges.							
Check one:								
(1) a legally qualified of issue of public importa	message relating to any political matter o candidate for federal office; (2) an election ance (e.g., health care legislation, IRS tax co y or discussion at the national level.	n to federal office; (3) a national legislative						
Ad does NOT commo		matter of national importance (e.g., relates						
Al	LL QUESTIONS/BLOCKS MUST	BE COMPLETED						
station time requested by: Mair	n Street Media Group							
Agency name: Main Street Media	Group							
Address: PO Box 25093 Alexandr	ia, VA 22313	and the second of the second o						
Contact: Media Buyer	Phone number: 703-485-0004	Email: info@msmg.tv						
	st entity's full legal name as disclosed to ; name must match the sponsorship ID in	the Federal Election Commission [for federal n ad):						
Name: One Nation								
Address: 15405 John Marshall Hw	ry, Haymarket, VA 20169							
Contact: Tournn Sinclair	Phone number: 202-706-7051	Email: info@onenationamerica.org						
Station is authorized to annour	nce the time as paid for by such person	or entity.						
governing group(s) of the adve	s, members of the executive committee ertiser/sponsor (Use separate page if new Burchfield, Sally Vastola, Ken Cole	cessary.):						
	onsor represents that those listed above an of directors or other governing group(s).	re the only executive officers, members of the						
f ad refers to a federal candida	ate(s) or federal election, list ALL of the	following: N/A						
Name(s) of every candidate ref	erred to:							
Office(s) sought by such candid	date(s) (no acronyms or abbreviations):							
Date of election:	•							
Clearly identify EVERY politicand (no acronyms); use separate	l matter of national importance referrece page if necessary:	d to in the N/A						

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING. The advertiser/sponsor agrees to indemnify and hold harmless the station for any damages or liability, including reasonable attorney's fees, which may arise from the broadcast of the above-requested advertisement(s). For the above-requested ad(s), the advertiser/sponsor also agrees to prepare a script, transcript or tape, which will be delivered to the station by the log deadlines outlined in the station's disclosure statement. Advertiser/Sponsor Station Representative Signature: Signature Name: Media Buyer, Main Street Media Group Date of Request to Purchase Ad Time: 3/21/24 Date of Station Agreement to Sell Time: < Ad submitted to station? Date ad received: Note: Must have separate PB-19 forms for each version of the ad (i.e., for every ad with differing copy). If only one officer, executive committee member or director is listed above, station should ask the advertiser/sponsor in writing if there are any other officers, executive committee members or directors, maintain records of inquiry and update this form if additional officers, members or directors are provided. Disposition: Accepted IN PART (e.g., ad not received to determine content)* Rejected -- provide reason: *Upload partially accepted form, then promptly upload updated final form when complete. Date and nature of follow-ups, if any: Contract # Station Call Letters: Date Received/Requested: Wausa. 5/14/24 Run Start and End Dates: 8/28-97/2/24 Station Location: Est. #: Upload order, this disclosure form and invoice (or traffic system print-out) or other material reflecting this transaction to the OPIF or use this space to document schedule of time purchased, when spots actually aired, the rates charged and the classes of time purchased (including date, time, class of time and reasons for any make-goods or rebates) or attach separately. If station will not upload the actual times spots aired until an invoice is generated, the name of a contact person who can provide that information immediately should be placed in the "Terms and Disclosures" folder in the OPIF.